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0... 2 |0000150 13 |11 31 49 030 34 21 19 004 006
2... 4 0000165 81| 66 20 35 019 053 20 15 001 007
4... 6 0000189 66| 54 17 19 009 20 19 063 001 012
6... 8 |0000205 62| 53 16 069 005 18 18 033 005 012
§.. 10 | 0000210 65| 55 17 20 003 11 18 032 013 021
10... 12 0000241 71| 59 1.8 30 003 053 17 067 001 0.16
12... 14 | 0000248 74| 62 19 27 007 057 17 13 004 0.19
14... 18 | 0000298 64| 57 17 071 007 028 17 14 003 0.09
18... 22 | 0000350 70| 62 20 16 009 034 17 13 011 0.10
22... 28 | 0000429 79| 63 21 36 011 12 16 13 018 0.12
28... 52 | 0000467 60| 43 14 25 028 1.0 14 24 016 025
52... 160 | 0.000948 6.6 | 43 14 010 069 085 13 45 031 021
160...1000 | 0.00496 89 | 68 2.6 003 056 30 14 38 007 0.08



